s#‘?-rg“ % Ksin

2
= SM (2456 40 ) dx = Gemado
V5. G5y _
xS Sing =4 [1-Gs20]
SS\AQAQ e — @OZOC‘&[(+C9020]

e 2
Sinl Cos6 x  SiaQ Gs0 :L}s;u_g

— /\J\/\
':SIS (—Cs20 Al = >z (9—;5].«?—9> +C
LA
=%, (s (/;_\ -2 5( f_;_-/f»)( <
R (T
= % (i) - 1Y 4 c
%z s

©Ax
2)[8 ——f—( ) (x+5) X=-2, X=-3 ave ot a Co, &)
o L0
a
A S S Veud Portid Prachons for
hore'y (K¥2)(x43 ( -, .
(= L Y dx — (42)(x43)  xx2 X43
g S (e ™
A= 00
_ [;mm\ ﬂmm) | = A(x2) 3 (xs2)
600 X=-3 =7 | = 8(,\):')’5_—_,\
{:,, }’“lu'zl—/a‘ la+3] - ﬂulonl-rlw\oﬂl) K=t o 12 AC)) o Al
L (B e ) N
o \ (;:(x+3) ﬁ x+3
(?{‘M +H | (bg ‘Wy;l-\o)

3 M.%uy,z

- The oo inbegld corvegn B0 So3y

Title : May 4-10:23 AM (Page 1 of 2)




>, g3t o<t <z,
/
b

3 21/‘“3—1'-“- ,& fle  Curee x=3d-4
, — ¥=3-34" \
L= f Jxwr g At Y=t

a
-

ST R
o N—
at!

KA
Tlg4

[

2 24 2
- g NESRIOICECCP A
0 . 8 gz .
‘ ¢ -\ 2+34%d¢
= X \’ (3\13/&’)2 At = &o (3534 At = )

i I i L e S I
0

=0 ' w
hem | Copt (397
Nl
fe L3l 6 < |
n20 x|
T suies s abiklf Guages
{
z A — 00 £ 6
Z(—;)’”'”}:?I\_ *
=3 (o=s n=3 n2 the sovien
diagyo
by Test
for Diargete
S S R
B ] =
) Find ;7:0 6™ (2m! o f\z:o (2m)]
n
@\" Xx= =
z G/, ”/6 =z —): A

Title : May 4-10:51 AM (Page 2 of 2)



